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HET1TIEGT H39T 1 S TIaeH] & 91T 3R 377 G&d] & 9ic Hilag
(i) 39 5v7-97 4 38 F97 & | @I FT SHHaTH & |

(i) TEY¥-97 Qi @USl 7 [QAyif5a 8 — &, @, W, 90a & /

(iii) @UE & § 7 qeql 18 18 T Fglasedid (MCQ) ol Jv7 &&q1 19 T 20
SIfIFHYT TT T TERT 1 3% F J97 3 |

(iv) @U@ H ¥97 g&I121 @ 25 7% 3717 TG-FH1T (VSA) JPR 3 2 37H & J97 & |
(v) TUE T H ¥9T G&IT 26 T 31 7% TY-FTH1T (SA) JHR & 3 37 & Fo7 & |
(vi) TS T F 97 G&I1 32 @ 35 T G-3RI (LA) IR & 5 3H & 97 8 |

(vii) WIS F H§ Y97 T&IT 36 T 38 TF YU 37eJI7 JTERT 4 37H1 & J97 & | IdF
JHTT 3TeTIT H STARF [dhcT 2 37h] & Y97 8 1397 71 & |

(viii) ¥97-97 § GHY [dHeq 787 137 731 8 | JEfT, @vS @ & 2 Yul H, @US 7 & 2 ¥l
4, @5 g &2 Yo 7 q9T @S & & 3 Yo7 B aRF ldhcq &1 JaerT 1731 77

g/

(ix) & STTvIH &1 L= Pl G9I5T | gl avTH & 1 = % g, atq F=reT
7 13971 T 81 |
(x)  Dopaie & ITINT a8 |

@usg <h

39 @I H Fglaedid ¥ (MCQ) 8, 574 Jcde J97 1 37 %7 & | 20x1=20

1. Ife ax+by=a2—b2 qAUT bx+ay=0 %,Fﬁx+y7ﬂrlﬂ%:

(A) a2—Db? (B) a+b
(C) a-b (D) a2+ b?

2. T G&ARA 65 A°T 104 HT .. (HCF) 13 ? | If¢ 65 aAT 104 T &.4.
(LCM) 40x &, @ x T U 2 :
A 5 B) 13
(C) 40 (D) 8
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take © = 3 wherever required, if not
stated.

Use of calculators is not allowed.

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each.  20x1=20

If ax + by =a2—b? and bx + ay = 0, then the value of x +y is:
(A) a2-b? (B) a+b
(C) a-b (D) aZ+b?

The HCF of two numbers 65 and 104 is 13. If LCM of 65 and 104 is 40x,
then the value of x is :

A 5 (B) 13
(C) 40 (D) 8

14-30/4/1 P.T.O.
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e Th 9598 p(x) = x2 — 5x + 6 B, dl p(1) + p(4) I AF @

A O B 4

< 2 D) -4

e fouma gitertor 8x2 — 2x + ¢ = 0 o1 fofoPet 16 8, A c HT AF B -
a 1 B) 0

© -1 D) 2

Ife g sh Teh =M Jd ohg T 90° hT IV AN HLdl 8, ql 36 =19 I TS
qur g o oy § e #

(A 2:3 B 1:4

) 4:1 D)y 1:3
12cmﬁwmé@qﬁés@ﬁwgw gIHA 607 cmz% | EH%!EI'@T&'
h hgd IV <hl AT 7 :

(A 120° B) 6°

(C) 75° (D)  150°

e Tohdl 3TTehgl o Tgcieh a1 HIEdh 1 AL 24 &, d1 $4eh HIAh HI 7T
(A) 12 B) 24
) 8 (D) 36

2 ITEl k1 Uk H1Y 3BTl T=T | a1 9l R fawm geamd gred g <hl Iifiekd
B

6 3

(A) 26 (B) 36
12 9

(C) 26 (D) 36

T 3 AN & T JE &FA%hal a1 sHeh! s o & & off9 1 T
2

(A 2m:1 B) 4n:1

(C) 3m:1 D) 1:4n

14-30/4/1
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3. If a polynomial p(x) is given by p(x) = x2 — 5x + 6, then the value of
p(1) + p(4) is :
A) O (B) 4
) 2 D) -4

4, If the discriminant of the quadratic equation 3x2—2x + ¢ =0 is 16, then
the value of c is :

A 1 B) O
© -1 D) 2
5. If an arc subtends an angle of 90° at the centre of a circle, then the ratio
of its length to the circumference of the circle is :
A 2:3 B 1:4
(C) 4:1 D) 1:3
6. The area of the sector of a circle of radius 12 cm is 60w cm?. The central
angle of this sector is :
(A)  120° B) 6°
(C) 75° (D)  150°

7. If the difference of mode and median of a data is 24, then the difference of
its median and mean is :

A) 12 (B) 24
(C) 8 (D) 36

8. Two dice are tossed simultaneously. The probability of getting odd
numbers on both the dice is :

6 3
A — B 2
(A) 36 (B) 36
12 9
C — D 2
(C) 36 (D) 36
9. The ratio of total surface area of a solid hemisphere to the square of its
radius is :
A 2rn:1 B) 4m:1
(C) 3m:1 (D) 1:4mn

14-30/4/1 P.T.O.
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qﬁsinE):l%,?‘ﬁ%sin (gjwmﬁ%:

(A) (B)

1
V2

(D) 0

1
2.2
© =

[\)

& e T TGN WER TR B | S99 O T [T H U 5x — 3y =2 & |
TE T 1 GHIRT B Eehdl B

(A) -—-15x-9y=5 (B) 15x+9y=5
(C) 9x-15y=6 D) -—-15x+9y=5

T GTE ST Uk BHIER A H 8, T ATHA 30 B | SHH AT U FAT & 2
A) 4 (B) 10
(C) 16 (D) 8

% A ABCH, DE || BC 2 (591 foh 3mepfd # q@ifen T g) | If¢ AD = 4 cm,
AB=9cmFT9ﬂAC=13-5cm%,?ﬁEC@F@T&E%:

(A) 6cm (B) 7-5cm
C) 9cm (D) 5-7cm

fe7 ° for) 9w, weh HHR <1 SR hl AdTS SHRl S8 b SUST Bidl g | dl
39 9T g 1 AT @

(A 30° (B)  45°
(C) 60° (D) 90°

14-30/4/1
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If sin 6 = 1, then the value of % sin (gj 1s :

(A) (B)

1 1
22 V2

(®) (D) 0

DO | =

Two lines are given to be parallel. The equation of one of these lines is

5x — 3y = 2. The equation of the second line can be :
(A) —-15x-9y=5 (B) 15x+9y=5
C) 9x-15y=6 D) -—-15x+9y=5

Three numbers in A.P. have the sum 30. What is its middle term ?
(A 4 (B) 10
(C) 16 (D) 8

In A ABC, DE || BC (as shown in the figure). If AD = 4 cm, AB = 9 cm

and AC = 135 cm, then the length of EC is :

(A) 6cm (B) 7-5cm
(C) Y9cm (D) 5-7cm

At some time of the day, the length of the shadow of a tower is equal to

its height. Then, the Sun’s altitude at that time is :
(A)  30° (B) 45°
(C) 60° (D) 90°

14-30/4/1
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15. @ T wER #, AB @ AC TH 39 W @t T weiard § 1 af
ZABC =42°%, dl « BAC & U9 % :
B

(A 96° (B)  42°
(C) 106° (D) 86°

Tsh il =S ABCD % o9 ¥ A 2, 3), B(6, 7) @91 C(8, 3) &, dl 3&eh
= I D 7

A (0,1 (B) (0,-1)

C) (1,0 D) 1,0
fFfiaem E & fw, IR P(E) + PE) =q 8, W2 -4 HTAF B :
(A -3 B 3

(C) 5 (D) -5

3 T8 IBd H, fog A W AR TRl HE a1 @ gl I T IWAMHE TRl
QR 2 | g A W @it 75 TR QR &I P W et g | I¢ AP = 42 em
8, Al QR I &S 3 :

(A) 42cm B) 21cm
(C) 84cm (D) 6:3cm

14-30/4/1
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15. In the given figure, AB and AC are tangents to the circle. If £ ABC = 42°,
then the measure of Z BAC is :

B

A 96° (B) 42°
(C) 106° (D) 86°

16. The fourth vertex D of a parallelogram ABCD whose three vertices are
A(-2,3),B(6,7) and C(8, 3) is :

A (O, B) (©0,-1)
€ (1,0 (D) (1,0

17. Foranevent E, if P(E) + P(E) = q, then the value of g2 -4 is:
A -3 B) 3
C) 5 (D) -5

18. In the given figure, QR is a common tangent to the two given circles

touching externally at A. The tangent at A meets QR at P. If AP = 4-2 cm,
then the length of QR is :

(A) 42cm (B) 21cm
(C) 84cm (D) 6-:3cm

14-30/4/1 P.T.O.



97 GEIT 19 3K 20 H9HYT TF T% SR 597 8 | @ 97 13w 78 & 577 v &7
STYFIT (A) T TR H1 7% (R) GRT 37/ 91 7797 & | 37 J971 & @& IR 14 167
77 F1s] (A), (B), (C) 3% (D) 7§ & g7t Fifaw |
(A)  IAHHAT (A) 3N Tob (R) I F&1 8 3R deh (R), 3R (A) i @&l
ST HLdT & |

(B) MM (A) 3R T (R) GHI T8l 8, Tg e (R), A (A) i &t
ST 7gT T 7 |

(C) 3fyehed (A) U&l g, Tg Toh (R) e & |
(D)  37HA (A) A B, T ek (R) T 7 |

19. SHHYT (A): Teh [WGEUS 1 HEA{olg 38 1: 1% U H forH1id st 2 |
7% (R) : g (- 3, k), fgati (- 5, 4) A1 (- 2, 3) = fHaW a1 TETETE
Wl 1:2 % ATUG § TaATiord e g |

20. 3WHYT(A): ARG TH ga i GRIY 176 cm 7, T 3! 1 28 cm 7 |

7% (R) : I 1 IR = 21 x B
TUE |
57 GUE T 37la TG-IRIT (VSA) FHR & J97 &, o780 Je3ieh & 2 37 & | 5x2=10

21. o9 =feat swuw: 9, 12 dA1 15 e & TaUa W ot 3 | I 98 T @Y
ST I[® Ll &, dl oha- THT o 1 I8 GIETT Teh A1 il ?

22. (a) U T i e archt g5 I @@ 14 cme | 5 e 4 39 g0 o€t &
qd W d &% I shifoT |
AT
(b) 42 cm T3S 910t g9 1 IW A9 H FEIE AG HIMT A JA b hg T
60° ST SHIVT dNd Ll & |

2 © 2 o _ 2 o
93. (a) §W 3@ ify; 28 69 42-4sec :?02 tan2 45
sin“ 30° + sin“ 60°

HAYAT
(b) ﬂ'ﬁ{sin(A—B):%, cos(A+B)=%; 0<A+B<90°, A>B&% d

/ ATIT / B 14 shIfST |

14-30/4/1 Page 10
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Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : Mid-point of a line segment divides the line segment in
the ratio 1 : 1.

Reason (R): The ratio in which the point (-3, k) divides the line
segment joining the points (- 5, 4) and (- 2, 3)is 1: 2.

20. Assertion (A) : If the circumference of a circle is 176 cm, then its radius is
28 cm.

Reason (R): Circumference = 27 x radius of a circle.
SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks
each. 5x2=10

21. Three bells toll at intervals of 9, 12 and 15 minutes respectively. If they
start tolling together, after what time will they next toll together ?

22. (a) The minute hand of a clock is 14 cm long. Find the area on the face
of the clock described by the minute hand in 5 minutes.

OR

(b)  Find the length of the arc of a circle which subtends an angle of 60°
at the centre of the circle of radius 42 cm.

5 cos260° + 4 sec® 30° — tan?2 45°
sinZ 30° + sinZ 60°

23. (a) Evaluate :

OR
(b) If sin(A—B)=%, cos (A +B) = %; 0<A+B<90° A>B;find

/ A and Z B.

14-30/4/1 Page 11 P.T.O.
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24, @ TZ IR H, O I H 43 @ I?Ti%;’LAOB=145°35’,?ﬁXEF[W3ﬂH
I |

<

25. o 5 3Thfd H, A AHK ~ A ABC & | ¢ AK = 8 cm, BC = 3:2 cm @
HK = 6-4 cm 8, a1 AC =hl @eTE J1d hIfNT |

Qug T

39 GUE § TY-FHIT (SA) FHR & 97 &, 1579 9% & 3 3% & | 6x3=18

sin®—cos0+1 1
26. ﬁ:lZQ 9T - =
smO+cos0—-1 secO—tan 0

27. (a) dF Tl &l Tk 19 IBTAT =T | FET o UTed B9 <hl ITRehdT I B 2

(i)  HH-U-%H T fud
(i) "WEA TR
(iii)  3Tfereh-B-31fees Teh e

AT

14-30/4/1 Page 12
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24. In the given figure, O is the centre of the circle. If £ AOB = 145°, then

find the value of x.

<

25. In the given figure, A AHK ~ A ABC. If AK = 8 cm, BC = 32 cm and
HK = 6-4 cm, then find the length of AC.

SECTION C
This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18
sin@—-cos0+1 1

26. Prove that

sinO+cosO—1 secO—tan 0

27. (a) Three coins are tossed simultaneously. What is the probability of
getting
(1) at least one head ?
(i1)  exactly two tails ?

(111) at most one tail ?

OR

14-30/4/1 Page 13 P.T.O.
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[
T U T 90 fe&h (discs) &, 59 W 1 @ 90 ao T 3ifeha & | afe
W US U ° UH [SEh IgTsdT MRl Sl @, d1 Hehl JTRiekdl Fd
Y foh 38 Tewep T 3ifehd Bl -

(i) @ 3Tehl <hl T&AT I 40 A A B |

(i) 5 9 9IST 98 &A1 S 50 § &Lt B |

(ifi) T Ol o HE |

28. @I T 2,000 fehrer & U we o 718 qe I WS (HIIRR) @ had
T 50 3R T 100 % A &7 % [T a1 | WHT I FA 25 Al I g | [
hifore fo 38 T 50 AT T 100 & Thar-feran e it |

29. (a)

(b)

TFUG 4x2 + 4x — 3 h I[eh A 1T AT I qAT SGIG h JUTTeh!
&= & ey 6 Atg HT |

AT

aﬁaamﬁagqax2+x—2éswﬁs‘,?ﬁ%+ﬁaﬂmaﬁ
(0
ST |

30. fem w6 V3 s uimy wen g, @ fag fifse 2-43 Teh IRy

5

e 2 |

31. fag Sifsu f forelt g & afora awiae =qys gwaqys 8@ 2 |

14-30/4/1
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(b) A box contains 90 discs which are numbered 1 to 90. If one disc is
drawn at random from the box, find the probability that it bears a :
(1) 2-digit number less than 40.

(i1)  number divisible by 5 and greater than 50.

(iii)  a perfect square number.

28. Rehana went to a bank to withdraw ¥ 2,000. She asked the cashier to
give her ¥ 50 and ¥ 100 notes only. Rehana got 25 notes in all. Find how
many notes of ¥ 50 and ¥ 100 did she receive.

29. (a) Find the zeroes of the polynomial 4x2 + 4x — 3 and verify the

relationship between zeroes and coefficients of the polynomial.

OR

(b)  If o and P are the zeroes of the polynomial x2 + x — 2, then find the
p

o
value of = + —.
o

30. Prove that

is an irrational number, given that +/3 is an irrational

number.

31. Prove that the parallelogram circumscribing a circle is a rhombus.

14-30/4/1 Page 15 P.T.O.
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[m;5:54
wus ¥

39 GV H H-ITIT (LA) IR & I97 &, 578 Jed%b & 5 37 & /

4x5=20

32. T 100 m =S HSH 6 HI AR FEH-HHA, T T8 Il 31 @H 7§
g | 31 gHl @Y % o9 dg% & U fag § @WHI % R{ME % IAE HI0
SHHI: 60° 3R 30° 8 | Tcdsh @H sl weTg R @I H ¥  fog 1 gl 7
Hifvre | (V3 = 1-732 T Fifsm)

33. (a) U HHIGX IqYS ABCD i € T3 451 AD W foig E 39 YR 2 T

BE, Y51 CD @ F W @icd! 8 | g2Ms¢ 6 A ABE ~ A CFB.
Ao
(b) A ABC @1 Ya¢ AB, BC T HIfERRI AD oSl A PQR hl qalTati
PQ, QR du1 Wiedw PM & wHur 7 | fag i 5
A ABC ~ A PQR.
34. (a) UH WS 90 km <l 3t & fOOR 9@ & woidl @ | AG gEehl =T
15 km/h 316 BT, A1 36 I8 A0 QW HE § 30 fire &0 @1 | W@mel
I A AT A hiTT |
STt
(b) ‘¢ %1 98 WM FTd shifoe, fSeer foru feama gt
(c+1D)x2-6(+1)x+3(+9=0; c-1
% A Ardfaeh qol 99H 8 |

85. frfciRaa avft, s Euared § Q@ 9N § AT URRIT hi Y =i 7
Ay (It H) 5-15|15-25 |25 -35| 35 —45 |45 —55 |55 — 65
Qi bt e 6 11 21 23 14 5
39T Gd kel 1 Sgeteh qdT HIEA J1d hIWT |

14-30/4/1
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This section comprises Long Answer (LA) type questions of 5 marks each.

32.

33.

34.

35.

4x5=20

Two pillars of equal lengths stand on either side of a road which is 100 m

wide, exactly opposite to each other. At a point on the road between the

pillars, the angles of elevation of the tops of the pillars are 60° and 30°.

Find the length of each pillar and distance of the point on the road from
the pillars. (Use +/3 = 1-732)

(a)

BE intersects CD at F. Show that A ABE ~ A CFB.

(b)

OR

E is a point on the side AD produced of a parallelogram ABCD and

Sides AB, BC and the median AD of A ABC are respectively

proportional to sides PQ, QR and the median PM of another

A PQR. Prove that A ABC ~ A PQR.

(a)

A train travels a distance of 90 km at a constant speed. Had the

speed been 15 km/h more, it would have taken 30 minutes less for

the journey. Find the original speed of the train.

(b)

OR

Find the value of ‘¢’ for which the quadratic equation

(c+1Dx2-6(cc+1)x+30c+9)=0; c~-1

has real and equal roots.

The following table shows the ages of the patients admitted in a hospital

during a year :

Age (in years)

15 -25

25-35

35 —45

45 — 55

55 — 65

Number of
patients

11

21

23

14

Find the mode and mean of the data given above.

14-30/4/1
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Qus &
59 GUE H 3 JH S7TT STENRT J97 & 578 Jcdeb & 4 37 & | 3x4=12
ThI0T AT - 1

36. I I B W ° & AU hl SRS R AN hl fGRrrerdr sgd st
el off | 98 guen U fed SAafe-gnh s 1 GO SEar o | SHiee S
% YR T AU Tehe SIS I Tha BT IYE B AT | THT Toh feamed =
ﬁ?ZITTI'SIT%:

I W T, FEfaiad st % I N
(i) F a1 G ! e 9 Weravs %1 we-feig wd i | 1
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SECTION E
This section comprises 3 case study based questions of 4 marks each. 3Ix4=12
Case Study -1

36. Ryan, from a very young age, was fascinated by the twinkling of stars
and the vastness of space. He always dreamt of becoming an astronaut
one day. So he started to sketch his own rocket designs on the graph
sheet. One such design is given below :

=

o at

-

N

Based on the above, answer the following questions :

1) Find the mid-point of the segment joining F and G. 1

14-30/4/1 Page 19 P.T.O.
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() (a) Togall A 91 C % = i gt fehall 8 2
PG
(b) Tagati A o1 B = fe™ a1 {@MvE # 1: 3 % UM H
3q: forarem s et foig < fdsmes sma i |
(i) oG D o Fowmmsh F1 & ?
THIOT STETTT — 2
37. $SR B TH UATEh IR HIEHH @ 8, Sl Hrl ¥ g @9 &l @ &
T guTi/AEsTi/MEE 6l Th @l 1 STJE0 ®d @ | fearg viama
QEHT 1 TIF MY & foU weh (e @ § ol a8, SHeed 3R
wRferal =l geemd € |
Th o B¢ W W dng o gun (e fafte s § fBu g g W
Afeeh 9§ Toh A.P. 9 & | I nd TAF T LA 20 + 4n &, A1 Raartedi

o 1 i .
S o <

(i)  UBA TIM U HH-A G&IAT R ?

(i) (a) HH-ET TAM 112 HHThT g ?
HAYAT
(b) UESA 10 T T Tft GEAT3T BT AT T 8 ?

(iii) <hI-H T (n — 2)d TAH W 3 ?

14-30/4/1 Page 20




OO
[CEEE

(i1) (a) What is the distance between the points A and C ? 2

OR

(b) Find the coordinates of the point which divides the line
segment joining the points A and B in the ratio 1 : 3
internally. 2

(iii) What are the coordinates of the point D ? 1
Case Study - 2

37. Treasure Hunt is an exciting and adventurous game where participants
follow a series of clues/mumbers/maps to discover hidden treasures.
Players engage in a thrilling quest, solving puzzles and riddles to unveil
the location of the coveted prize.

While playing a treasure hunt game, some clues (numbers) are hidden in
various spots collectively forming an A.P. If the number on the nt® spot is
20 + 4n, then answer the following questions to help the players in
spotting the clues :

-
-\
\

T “' ‘1:

) Which number is on first spot ? 1

(i1) (a)  Which spot is numbered as 112 ? 2
OR

(b)  What is the sum of all the numbers on the first 10 spots ? 2

(iii) Which number is on the (n — 2)t® spot ? 1
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S S0 gy dTerfl ST gL gHi S TR <1 § | T8 g9 SIS e
gifead iar 7, 396 g 99er gedi sl 9fea iar g 7 36 W@ & Ui
STES SARRAT o foTw Wb favaaa fashed samT 2 |

——

500 mL Y 15 cm x 8 cm x 5 cm 3R s BHIWIHR Yehe H Ueh § q9T I8 qY
% Uhe 30 cm x 32 cm x 15 cm o FATHIRR e (fesd) 1@ § |

3ITE & TS TSR b 3uR R fA=fafea gei % 3w G
(i)  OFTHTRR e (fesd) o1 Amaas F1d HifST |

(i) (a) GU % T Uohe 1 TV JEIT &AHA AM@ HIMT |
AT
(b) T hied (Tessl) H foha gU o Yehe 311 Wehd & ?

(i) 3Apld H fe@E MY 9 ¥ fohd1 g9 311 Ehal & ?
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Case Study -3

Tamper-proof tetra-packed milk guarantees both freshness and security.
This milk ensures uncompromised quality, preserving the nutritional
values within and making it a reliable choice for health-conscious

individuals.

500 mL milk is packed in a cuboidal container of dimensions
15 cm x 8 cm X 5 ¢cm. These milk packets are then packed in cuboidal

cartons of dimensions 30 cm X 32 cm X 15 cm.

Based on the above given information, answer the following questions :
(1) Find the volume of the cuboidal carton.

(ii)) (a) Find the total surface area of a milk packet.

OR
(b) How many milk packets can be filled in a carton ?

(iii) How much milk can the cup (as shown in the figure) hold ?
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